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PROBLEM SET # 11
(due: April 23)

et

. Page 459 : # 10, 12.

2. Compute the area of the surface S parameterized by ®(u,v) = (ucoswv, usinv, v) where
0§u§\/§, t<v<u.

3. Parameterize the surface S given by y = 22 + 22 — 8 where 1 < 22 + 22 < 4. Find the area of
the surface S.

4. Page 480 : # 3, 10.

5. Compute the surface integrals / / xdS and / / F-dS, where F(z,y, z) = (z, 4z, 2y +1) and
s s

S is that part of the plane g +y+ z =1 in the 1* octant:

6. Compute the surface integral / / F - dS where f‘(x, Y,2) = yf— mf—l— zk and S is that part
S

of the paraboloid z = 9 — 22 — 42 which lies above the plane z = 5 and N is the upward unit
normal. What is the fluz of F across S 7
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